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A= r v ROk B M p— L KRS
Metric units Japanese equivalents British or U.S. equivalents
E 3 Length
3.28083 7 4 — b feet
— v .
2 k )V metre m 3.30000 & shaku {1.09361 T
H # B micron & 1/160000m | 3.30000 & kotsu 0.000004 4 » ¥ inch
3 Y A — bV millimetre mm  1/1000m 3.30000 & rin 0.03937 4 » F inch
€ v F A — bV centimetre cm  1/10m 3.30000 < sun 0.39370 4 ¥ F inch
_ . 0.62137 < JV miles
F om o b OV kilometre km 1600m 9.16667 W] cho {49. 70960 F E ~ > chains
[y T . . - 92.12120 F = — 1 chains
B B pautical mile nm  1852m 16.9872 W] cho {1. 15152 = 4 I moiles
= H Mass weight
, .. . 266,667 /] momme {2‘ 20462 R ¥ K av. pounds
F wm 3 L kilogramme kg { 1.26667  JT kin 35.27396 A A av. ounces
: % 4 5 A milligramme mg 1/1000000kg | 0.26667 F mo 0.01543 4" v — > grains
7 5 2 gramme g 1/1000kg 0.26667 A  momme 15.43236 2 L — ' grains
. - 0.98421 & b > long ton
N > ton t  1000kg 266.667 B kean {1. 10231 % b > shost tons
7 Vi v b carat ct  200mg 0.53333 4} fun 3.086 7"V — »  grains
H ﬁ‘i Area
MoFH A — kI gq. metre m" 0.30250 P tsubo 1.19599  YJ ¥ — K sq. yards
3 . 0.38610 M~ A v . mil
SEHEE A — b IV sq. kilometre km? 1000000m2 100.8333 [ cho {247. TO4 171 5 — :?:rer;u €
_ 2 a 3.95367 EHW® w K sq. rods
7 v are a  100m’ 1.00833 A se {Q 02471 = 3 —  acres
P § o 2.47104 = — H — acres
~N 7z )V hectare ha  10000m 1.00833 M cho {24‘ 7104 P F x.— sq. chains
27N ## Capacity
I #* — b JV  cub. metre m3 5.54368 1  koku 1. 30794 cub. yvards
V2 F A— PV cub. centimetre  cc  1/1000000m> 0.05544 ] shaku 0.06123 cub. inch
1. 05671 Mliq. quarts
Jy S [ I 1/100m® 0.55435 ' sho 0.90810 Fdry. quart
61.025 cub. inches
{0.271 fluid dram
2 U 9 v bV millilitre ml 1710007 0.05544 A} shaku {16.231 minims
0. 06103 cub. inches
o . N 0.21134 Fliq. pint
F v Y v bV decilitre ar 110 0.55435 & go {6_ 00> o e
F o Yy » b b kilolitre kI 10607 5.54368 4 koku 1.30794 ¥ —F cub. yards
= it k »  capacity ton T 1m® 5.54368 41 koku 28. 378 7w ¥ 2V bushels
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